


g % A7)

ST
B



3. the % Hol thE shihe ol AYUA

@® 175.56 + 23.1 @ 175.56 + 2.31 ® 1755.6 + 231

@ 17.556 - 2.31 3 17556 = 2310



2 A &7oj2

o AP

ol

© A5l BAE Y 4

DAH.OC 0.0 ®0.6 be.60 6 0.6



ol

® 4+

4,597m

— | <Ho0 |

Q@ ©



9
14

x[ ]+

1

1=
)

3 3 1
4— 5— 3— 4-
@ 4 ® 4 @ 4

3
32
@ 4



@® 1643.2 @ 316 ® 1643.2
@ 316 ® 52



8. Wed%Ro12EGZ e BF A=A,

® 66.88+3.52 @ 2+0.16 ® 42.14+4.3

@ 62.16=-8.4 3 16.02=3



IR

o
el

1jo

]_

@ 125.6cm? @ 94.2cm?

@® 188.4cm?

® 31.4cm?

@ 62.8 cm?



10.

WOl 182 m? 91 M2 Al ol 5, 1.9l =7 A8

% gl 9o Yol ¥ m? QU7

1 1
® 19g m?

Ut



11.

AL SEHolE 1R} 48 F 4B
50%E BG4 AR
FEe @A 2 %IUA?




3]
S
A2 AdEg 2 WSy

=]
=

2 =02 2| 20 HE
= ST =

N AF

%



A 7

=l
oh=

o] Zo]i= QnpL Fofo}

ot &

g

cm



14.

/ r 4cm

\
s, Zacm

Qe e



15.

Eo] 340 mLE©°] Q)

em? GU7H?

Yt
-

Q= H A A7 EL &5 &
FolEy A4 Sol7t 0.54 L7k HE YT 1 o

cm

A435] 2714

(CEEEN



OFIEE FAPGAA EZOR F7)7k e U muhg do]
iUt B2 387 1 48 5 gtk b 2ot g A

2o} 1282 kg W, B2 5T o] U 5 g 4R Ko nE
™

=2 AHAY7E?

a = 7



17.

cm




=t
2 emYY7R?

|
\
\
cm



19. g QA AR LT AR cao] Basn P 0, L, T
AFE 458 s AUk 90 5ol 12emd wf AT ¥

HolE FotA L.

0 O\F




20. o 2ET Zo] AKHA 9 AR Bl &
Eo] @A steld ol g1&o] 2uttE 2

XEE

AFH Tk o 15
7 g ofof g 7k?




